9_L1671_60_0-B-003

AGROFARM 430 -> ZKDW550200TD30001

Section: GO - BODYWORK - CAB
SPIN-ON FILTER

Ref: G0.07.5 (3)

Fig. P/n

QTY Name

Notes:

- FOR VERSIONS WITH NON- "HIGH VISIBILITY" CABS WITH HEATING [AGROFARM 430 2WD ->
ZKDW550100TD30001] - FOR VERSIONS WITH NON- "HIGH VISIBILITY" CABS WITH HEATING
[AGROFARM 430 4WD ->ZKDW550200TD30001]

22 2.0339.025.3 9
28 0.009.9424.2/10 1
37 0.017.8400.4/20 1
37.2 0.017.8404.2 1
373 0.017.8401.2 1
37.4 2.4019.647.2 2
37.5 2.1549.583.2 2
37.6 2.1121.005.2 2
39 2.0349.008.3 1
41 0.017.8407.0/10 2
42 0.017.8408.0/10 2
70 0.017.6882.0 2
85 2.1011.510.2 2
86 2.1310.011.2 2
92 2.1312.003.3 1

screwmo6x 16
air filter element
chassis frame
latch sx/Ih/1i
latch dx/rh/re
spring

spacer 8.2x15x3
nutm 8 p.1.25
screwmo6x 16
gasket

gasket

gasket

nutm 18 p.1.5
flat washer 19x34
washer 6.6 x 18

1/1



9_V1571_65_0-B-001

AGROFARM 430 -> ZKDW550200TD30001
Section: GO - BODYWORK - CAB Ref: G0.07.6 (1)
SPIN-ON FILTER
Fig. P/n

QTY Name

Notes:

- FOR VERSTIONS WITH NON- "HIGH VISIBILITY" CABS WITH HEATING AND AIR CONDITIONING
[AGROFARM 430 2WD ->ZKDW550100TD30001] 30319 <- - FOR VERSIONS WITH NON- "HIGH VISIBILITY"
CABS WITH HEATING AND AIR CONDITIONING [AGROFARM 430 4WD -> ZKDW550200TD30001] 30319 <-

22 2.0339.025.3 9 screwm6x 16
28 0.009.9424.2/10 1 air filter element
37 0.017.8400.4/10 1 chassis frame
37.2 0.017.8404.2 1 latch sx/Ih/1i
373 0.017.8401.2 1 latch dx/rh/re
37.4 2.4019.647.2 2 spring

37.5 2.1549.583.2 2 spacer 8.2x15x3
37.6 2.1121.005.2 2 nutm 8 p.1.25
39 2.0349.008.3 1 screwmo6x 16
41 0.017.8407.0/10 2 gasket

42 0.017.8408.0/10 2 gasket

85 2.1011.510.2 2 nutm 18 p.1.5
86 2.1310.011.2 2 flat washer 19x34
92 2.1312.003.3 1 washer 6.6 x 18

171



9_V1571_65_0-B-002

AGROFARM 430 -> ZKDW550200TD30001
Section: GO - BODYWORK - CAB Ref: G0.07.6 (2)
SPIN-ON FILTER
Fig. P/n

QTY Name

Notes:

- FOR VERSTIONS WITH NON- "HIGH VISIBILITY" CABS WITH HEATING AND AIR CONDITIONING
[AGROFARM 430 2WD ->ZKDW550100TD30001] -> 30323 - FOR VERSIONS WITH NON- "HIGH VISIBILITY"
CABS WITH HEATING AND AIR CONDITIONING [AGROFARM 430 4WD ->ZKDW550200TD30001] -> 30323

22 2.0339.025.3 9 screwm6x 16
28 0.009.9424.2/10 1 air filter element
37 0.017.8400.4/20 1 chassis frame
37.2 0.017.8404.2 1 latch sx/Ih/1i
373 0.017.8401.2 1 latch dx/rh/re
37.4 2.4019.647.2 2 spring

37.5 2.1549.583.2 2 spacer 8.2x15x3
37.6 2.1121.005.2 2 nutm 8 p.1.25
39 2.0349.008.3 1 screwmo6x 16
41 0.017.8407.0/10 2 gasket

42 0.017.8408.0/10 2 gasket

76 0.017.6882.0 2 gasket

85 2.1011.510.2 2 nutm 18 p.1.5
86 2.1310.011.2 2 flat washer 19x34
92 2.1312.003.3 1 washer 6.6 x 18

171



AGROFARM 430 -> ZKDW550200TD30001
Section: GO - BODYWORK - CAB Ref: G0.07.8 (2)

CAB INTERIOR TRIM
Fig. P/n QTY Name
Notes:

- FOR TYPES WITH CAB W/O "HIGH VISIBILITY" [AGROFARM 430 2WD -> ZKDW550100TD30001] - FOR
TYPES WITH CAB W/O "HIGH VISIBILITY" [AGROFARM 430 4WD -> ZKDW550200TD30001]

9 L1671_22_0-A-002

1 0.007.7660.0/90 1 front grille

6 2.1312.004.2 2 washer 8x24x2

9 2.1430.005.2 4 circlip

10 0.007.6734.2/20 2 lever

13 2.1699.429.2/40 2 pin

17 2.4099.104.2/30 2 spring

25 2.1699.442.2 6 pin m 8x23.5

26 2.1599.599.2 6 washer 10.5x30x5
36 0.010.4408.2 1 crosspiece

46 2.1011.105.2 2 nutm 8 p.1.25

171



9_56671_28_0-A-001

AGROFARM 430 -> ZKDW550200TD30001

Section: GO - BODYWORK - CAB Ref: G0.07.9 (1)
CARBON FILTER

Fig. P/n QTY Name

Notes:

- FOR TYPES WITH CAB W/O "HIGH VISIBILITY" [AGROFARM 430 2WD -> ZKDW550100TD30001] - FOR
TYPES WITH CAB W/O "HIGH VISIBILITY" [AGROFARM 430 4WD -> ZKDW550200TD30001]

1 0.009.9423.2 1 air filter element

171



9_J1571_21_0-A-001

AGROFARM 430 -> ZKDW550200TD30001

Section: GO - BODYWORK - CAB Ref: G0.07.10 (1)
DRIVER'S CAB ROOF

Fig. P/n QTY Name

Notes:

- "HIGH VISIBILITY" CAB WITHOUT F.O.P.S. [AGROFARM 430 2WD -> ZKDW550100TD30001] - "HIGH
VISIBILITY" CAB WITHOUT F.O.P.S. [AGROFARM 430 4WD -> ZKDW550200TD30001]

1 0.015.1700.3/10 1 roof

23 2.0422.209.2 2 screw m 8 x 35

24 2.1579.450.2 2 spacer

42 0.015.2443.3 2 bracket

51 0.015.2442.0 2 clamp

52 2.1310.002.2 2 flat washer 6.4x12.5
69 2.0112.003.2 2 screw m 6 p.1 x 12

171



AGROFARM 430 -> ZKDW550200TD30001

Section: GO - BODYWORK - CAB Ref: G0.07.11 (1)
DRIVER'S CAB ROOF

Fig. P/n QTY Name

Notes:

- "HIGH VISIBILITY" CAB WITH F.O.P.S. [AGROFARM 430 2WD -> ZKDW550100TD30001] - "HIGH
VISIBILITY" CAB WITH F.O.P.S. [AGROFARM 430 4WD -> ZKDW550200TD30001]

1 0.015.1700.3/10 1 roof

23 2.0422.209.2 2 screw m 8 x 35

24 2.1579.450.2 2 spacer

42 0.015.2443.3 2 bracket

51 0.015.2442.0 2 clamp

52 2.1310.002.2 2 flat washer 6.4x12.5
69 2.0112.003.2 2 screw m 6 p.1 x 12

9_W7671_21_0-A-001



Our support email:

ebooklibonline@outlook.com


https://www.ebooklibonline.com/downloads/deutz-fahr-agrofarm-430-tier-3-tractor-parts-catalogue-manual-instant-download-sn-zkdw550200td30001-and-up/



